DRHEANI=TEH EFI/N\IR

e

oy A

atrium

2 TEE S:1/100




YD 1+ R 2

[EA155R]

MmHES4 T @ RABFZEFE 2LDK

5t H i % @ £46,800,000 (FiiA)

Fr 12 b @ & RMAI=TH153%F 121

7 9t X e JtENRIAIFEINRE #5849

N FE R e KINER (I420m) SRFFER ($91.2km)

it fm ® BX : JLE R 8 (A-IEE1E)

e KiE: NE PEK © K

[13th)

] 5 @ 171.49m (51.87fF) &

& ith i3 e SE_iE /=i

ZRXRUVWEXe 60%

B B X e 200%

El % e mEAINER6.0m. BAINER6.0m

] 0 e #J24.4m

€E27))

Mt PR T & e 102.43m (30.981F)

2 E F A e SH4FE1085E

1B & @ RESEAYFTHIRNE2FEE

Bt BH e 28

/i ¥ e BE

Bl Ex D e 1F:LDK20.404-E=7Mh 8=, sE=E. WC
2F . FH=EFRIESJ11.6M4

[{&5]

-BWZXe HET-MEL EFIW/\DAEFEE  -A-ILEIE

-BELSFHlERD

- 3LDKAET 58D (BEETEREEIRIR)

NID4YIRBEMRRSIE 2 RH\BH—THE634&!M TEL : 076-280-8228
m EFEKE (1) 595515 m Al EEHEY)ES [ E R E

HUS1REER | IR



P
e Yo
» |

il LT "8 T
T ol [ B
| }nl;fﬁu-l a1

ROk

= . H O o
.’I ™ IIl = |'I¥r£$ .
iy |

"’ m»

./é.;

*E: 1]




6,897.5

3,185

725

3,640 682.5 2,957.5 3,640
i 13
) PMPFE
HIIFI ol I/
b=
= M
i R—IL W WE (BREH)
| (11.6M04)
o | o
v ik (SDf0FRH) ; _(_\. -
1 'l_ oy
2 fi——
= i i
RRp— . L' i £
H bbbt tt 1T T -\_)

H
I
IE
i
i
i

s

il (DERFH)

750

3,640 l 4,550

2,730 ]

3,640 682.5 2,957.5 808.3 2,831.7
Sy ;
i M Z@t 0 ...
{ 3
[l IJ' .
Lixn 2| | w—n -'mui
F ‘....5.5'5?
ol e |
- ] e, G 4
i 4- """"" e
nlS m
Witk (TIOEFEF) 211 H
i “ &

1,365

u - | ;55*15') 1

L) fpasnsaesess ‘ﬂi -T"‘_

T

Koot

g H WiE (WREH)

- — rY b )

’ﬁ: Pou
1 ¥ T IT — . = fr

3,640 l 4,550

l 2,730 l

ERETERX

|

2,730

820

1,



HEERVASRHE (BH) &RTEAISTREFINIZ

. VD4 (a) 46,800,000 H
FREtERERER 9 250,000 M
IREHERTEER (4,8005M0188) ) 92,000 H
FEBSLEH ) 90,000 H
7o B 2 EENAK 10,000 M
BIEBENEHRREE # M
R F &R 1,610,400 M
N ARBRA 9 300,000 M
RENERUSTR 0M

Nat (b) 2,352,400 M

. AEHREE (ERTIAOSS)

BRATFERY 220,000 M
BFENFER 5,500 M
EIE I FER 5,500 M

gt () 231,000 M

WEHARSS (a) + (b) + (c) =

. B®sE
BC&x
& A
A HAR
2FEE = A

BHKEER

49,383,400 M

1,383,400 H
48,000,000 M

35 £
0.55 %
125,664 H

BIEE

(BCAETHRE)



